“é o 1

ROLLNO ‘@"}7 s
/("’g{/ :

Military Colleqe Murree

Upper Topa, Murree Hills

.
- TR

-,

O RN s e

l
.
:
.

-

- o N
< ‘;"‘.'w
= -




MILITARY COLLEGE MURREE
ENTRANCE EXAM VIl
SYLLAUBUS AND TEST DESCRIPTION

1. 3 x hours exam of 300 marks will be based on the following parts /subjects:-

a. Part- 1 English

b. Part —Il Mathematics & General Science
C. Urdu & islamyat/ Pak Studies

PART-I

ENGLISH (100 MARKS)

Suggested Textbook;

English for Grade VIl (CH. Ghulam Rasul & Sons)

OBJECTIVE PART — (70 Marks)

(MCQs, Fill in the blanks, Do as directed)

SUBJECTIVE PART - (30 Marks)

Synonyms :
Correct use of Preposition
Correct use of Articles

Correct use of preposition
Marking adjective from the given
Verbs

Do as directed

Active/ Passive Voice

Degree of Adjectives

10

10

10

10

10

10

10

10

Translation from Urdu to English : 10
Translation from English to Urdu : 10
Picture Story Writing .10




Q.No.1.

Q.No.2.

Q. No.

Q.No.4.

Q.No.5.
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MODEL PAPER ENGLISH

Write down the synonyms of the following words.

Deliver b.
Legitimate d.
Willingly f.
Astray h.

Fill in the blanks with correct preposition.
The cows are the field.

He killed the snake a stick.

The dog jumped the car.

The moon revolves the sun.

Fill in the blanks using ‘a’, ‘an’ and ‘the’ as may be suitable.

Birds of ___ feather flock together.
old man came to our home.
Makkah is holy city.
sun shines brightly.
Copperis _____ useful metal.
Form adjective from the given words.
Child
Dirt
Hope
Man
Trouble
Do as directed.
None of the students

a ticket. (Have)

(10)
guideline
Lawful
Custody
Convoy
(10)

b. You should stand her.
d. | know nothing him.
f. China is the north of Pakistan.
h She is afraid the dog.

(10)
b. Aliis engineer.
d. Whois____ boy sitting there.
f. Shereturned after hour.
h. She seemsto ne English.
j. His father is SDO.

(10)
b. Fool
d. Hope
f. Education
h. Ease
j. Laugh

(10)

(Use correct form of the verb)

We cannot live water.

(Fill in the blank with compound preposition)

You speak the truth.

(Change into negative sentence)

| visited my family on weekend.

(Change into interrogative)

Ali is singing a song.

(Change into present perfect continuous tense)

Change the following sentences into passive voice.

They drive the car fast.

(10)

The women are washing clothes.

She eats mangoes.

| have bought a new car.

We performed our duty.




Q.No.7.
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Q.No.8.

Complete the sentences by supplying the correct degrees of adjectives. (10)
| would say this was the summer ever! (Good)
| was than my sister. (Tired)
| bought a jacket which was quite . (Expensive)
After out trip, | feel | am the boy on the earth! (Lucky)
This story is than the previous one. (Interesting)
Ahmed is than his brother. (Weak)
Ahmed is a boy. (Strong)
Rose is the flower. (Beautiful)
Lahore is than Islamabad. (Big)
Honey is very . (Sweet)
Translate the given sentences into English. (10)
ENA L
%w/nj/gci
Ut A e Gt
WU Ul
gt A
Translate the given sentences into Urdu. (10)

The chair is being repaired.

The students have completed their homework.

The woman could not cook food due to bad health.

The child greeted the guest.

The spring season has set in.




Q.No.10. Write a story in the given space based on the prompt / sketch / picture and give it an
appropriate title. Use the given space only to write your story. (10)

Suitable Title: (2)

Plot

Diction

Language

NINERN

Character

Ahmed is a caring and loving father. He is much concerned about his family. One day his wife fell ill.




PART-II
MATH & GENERAL SCIENCE

(100 MARKS)

Mathematics: Syllabus and Test Description (75 Marks)

Suggested Book (o—g%]}f )

Mathematics VII by Zulgarnain Ansari and Sh. M. Tariq Rafiq, Gohar Publishers, Punjab Text Book
Board

3.4 J&éb?lfzvrj/&%ﬂﬁgﬁ/&/wj5r6/hﬂ3i@ﬂ})ﬂ)&&@?bﬂ&‘/,gﬁ&&@

Objective((F3*) Subjective(2E)
MCQS(QUVQG:'U'/?() Open Ended Questions(el+)
15 Marks 65 Marks

Chapters for Papers(o*1Z_1,JL1)

[u—

Sets (&x)

2. Rational Numbers(s/ s/ JL' ()

3. Decimals (,:/L‘;'«‘Uf/)

4. Exponents (¥ =)

5. Square Root of Positive Number(.ie 63 4/ =)
6. Direct and Inverse Variation(( :g" Bl /.:’7 )
7. Algebraic Expressions(&2 (§ /’Z’ ))

8. Linear Equations(Z fsbs(% )

9. Circumference, Area and Volume((% /3] ,3 Jcbs )
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Syllabus and Description

of Test Science (25 Marks)

Suggested book

General science VIl by M. Akram Malik. Gohar Publishers (Punjab Text Board)

Objective (13)

Subjective (12)

15 x MCQs

2x Open Ended Question

Biology(5Marks), Chemistry (5 Marks) &

Physics (3 Marks)

Biology (3 Marks), Chemistry (3 Marks) &

Physics (6 Marks)

Biology
1. Human Organ System (¢~ o/7dur)

N

3. Reproduction in Plants(ﬂ,4d/uﬁu,;g)

. Transport in Humans and Plants(uﬁu‘u:u»gmuiu;)

4. Environment and Feeding Relationship(=tsidi.s1J.)

Chemistry:

1. Water(dy)

2. Structure of an Atom(=st-§f)

3. Physical and Chemical changes and process(uy+ dt2s/)

Physics

1. Transmission of Heat(=./7 J&)

2. Dispersion of Light(cf «3d & »)

3. Sounds waves(Jssxsl-)

4. Circuit and Electric Charge(<:/J Zises )

5. Investigating the Space(ugutpjéu&)




MODEL PAPER MATHEMATICS
Q 11: Encircle the correct option (15x1 = 15)

a. The compliment of a set A is written as

a. A b. nA c. A d. B/A
b. NUA=
a. U b. Null Set c. A d. A/

c. The Additive Inverse of 2/3 is
a. 3/2 b.-3/2 c.0 d.-2/3
d. The Multiplicative Inverse of -4/7 is
a. 4/7 b.7/4 c.-7/4 d.1
e. The Rational form of the number is 0.25 is
a. 1/4 b.3/4 c.1/2 d.2/5
f. Arational number is terminating decimal, if its denominator has no prime factor other than
a. 2and 3 b.3 and 5 c.2 and 5 d.2 and 7
g. 3" power of 5 can be written as
a. 3 b. 53 c. 3x5 d.5/3
h. The reciprocal of (p/q)™ is
a. (p/q)" b. (p/a)*/™ c. (a/p)" d. (pa)™

i. If perimeter of a square shaped garden is 40m then its area is

a. 160m? b. 400m? c. 1600m?2 d. None of these
. VA5 =
a. 0.15 b.1.5 c.10.5 d. 0.015

k. When we convert 36km/hr into m/sec, we get
a. 1m/sec b. 5m/sec c. 10m/sec d. 20m/sec
. If 2:5=x:2,thenx=
a. 50 b.2 c.1/2 d.8
m. Usher means
a. One-fourth b. One-fifth c. One-tenth d. One-eighth

n. The factors of a2-9 are

a. (a+3)(a-3) b. (a+9)(a-9) c. (a-9)(a-9) d. (a+3)(a+3)
o. Alinear equation consists of polynomials of degree
a. One b. Two c. Three d. Four



Q 12: If 10 boys complete a work in 4 days. In how many days will 20 boys complete the same work?

(15)

Q 13: Factorize: 2a’b+4ab?-2ab-4b? (15)




Q 14: Solve: 1/3 (x-3)+ 2/3 =4x-3/6 (15)

Q 15: The area of a circle is 172.1cm?. Find the circumference of the circle. (15)

10



MODEL PAPER GENERAL SCIENCE

Q 16: Encircle the correct choice. (1x13=13)
a. Which colour is good reflector of heat?
a. Red b. Black c. Blue d.White
b. Speed of sound in air is:-
a.130 metres per second b. 230 metres per second
¢. 330 metres per second d. 430 metres per second
c. Electric current is the flow of:-
a. Atoms b. Electrons c. Protons d. Neutrons
d. Transfer of pollen grains from anther to stigma is
a. Fertilization b. Excretion c. Digestion d. Absorption
d. The vessels that bring blood from the heart area
a. Arteries b. Capillaries c. Veins d. Villi
e. Exchange of Gases occur in:
a. Villi b. Alveoli ¢. Mucosa d.Trachea
f. The reverse process of Peristalsis:
a. Breathing b. Burning ¢. Vomiting d. Diziness
g. The loss of water by evaporation from plant is called as:
a. Translocation b. Transpiration c. Pressure Flow d. Diffusion
h. Isotopes are found because atoms of the same element have different number of
a. Protons b. Electrons c. Neutrons d. None of above

i The atomic number of fluorine (F) is 9. Its mass number is 19, how many neutrons are

present in its atom

a.7 b. 8 c. 9 d. 10
j. The number of electron in N-shell can be
a.2 b. 8 c.32 d. 18
k. Which color is good reflector of heat?
a. Red b. Black c. Blue d. White

An example of a chemical change is:
a. Boiling of water b. Evaporation of Water

c. Burning of Paper d. Melting of ice

11



Q 17: Attempt all questions (2x3=6)

a. Explain the transfer of heat by conduction method.

b. Calculate the frequency of a wave in Hertz (Hz) if one wave passes through a certain point in
one second.

Q 18: Attempt all questions (2x3=6)

a. Differentiate between Physical and Chemical Changes with examples.

b. Define Breathing? Also describe the human respiratory system.

12



PART-II
URDU & ISLAMIYAT/ PAK STUDIES (100 MARKS)
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Suggested Books:
1. Geography VIl jaded Educational Services Lahore(Punjab text Book Board)

2. History VII Al- Faisal Nashran, Lahore (Punjab Text Book Board)

Objective (25)

10 x MCQs | 15 x Fill in the Blanks
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Q No 27: Fifteen Multiple Choice Questions (MCQs) are given. Each question carries equal marks.
Encircle the correct option.
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Open Ended Question i 7 / A1

(10) L F e B 528 A i

Question No 28: Translate Surah lkhlas. (10)
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Q 27.Encircle the correct option.

Vi.
Vil.

viil.

Q 28.

Vil.

viil.

Xl.
Xii.

Xiii.
XiV.

XV.

The Battle of Panipat was fought in which year?

(10)

d) 1546 AD

d) 1456 AD
d)Wakeel-e-Saltanat
d) Bengal

d) 2250Km

d) Seismographer
d) Water

d) Six

d) 28%

a) 1462 AD b)1416 AD c)1526 AD
Second battle of Panipat was fought in.

a) 1556 AD b)1526 AD c)1446 AD
Who had central position in Mughal administrative system?
a) Emperor b)Prime Minister c)Diwan

In 1937 AD, Nadir Shah led an attack against:

a) Delhi b) Agra c) Lahore
The thickness of external core of Earth is

a) 1250Km b) 1950Km c) 2050Km
The instrument used to measure the intensity of Earthquake is:
a) Barometer b) Hygrometer ¢) Thermometer
What is important in soil creep?

a) Frost b) Snow c) Sun Blazing
The main ingredient for atmosphere are.

a) Three b) Four c) Five
The ratio of dryness on the surface of the Earth is.

a) 29% b) 66% c) 33%
Crops are grown in stepped fields in:

a) Plains b) Mountain slopes c¢) Desert areas

d) Coastal areas

Fill in the blanks. (15)
Islam Shah Suri died in the year ..........
Emperor Jahangir was bornin .......... At Fatehpur sikri.
Ancestors of Noor Jahan from Persia ..........
Shah Jahan died in the year ..........
Chief officer of Pargana was called ..........
Function of Diwan-e-Bureed was to collect and deliver .......... letters.
Sher Shah used to .......... his officials after over two or three years ..........
Bakhshiwas .......... troops stationed in his province.
Farrukhsiyarhad acquired throne with the help of ..........
After Alivardi Khan, his grandson .......... Was made the Nawab of Bengal

Syed Ahmed Shaheed was born in 1786 AD in the Indian city of Bareli ..........

Rohillas belonged to different Pashtun (pathan) tribes of

Shah Waliullah translated the Holy Quran into .......... language.
Sher Shah started from a humble status through his capabilities became the ruler of

.......... of seminaries were paid from Shah Jahan’s personnel account.
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